niva-math.com

Slaals U s a8 50

FErRAL

(A«J}“

aall



niva-math.com Glpaly Hl iy 28 g0

AV el Ja (1

TRy R — TR R — TR —

100 X 46.17 = =mmnmm- 4.01 X 100 =-memmmv 100 X 0.29 = --neemmv

80.2 X 1000 = ----nev 1000 X 16.8 = —-nnnn- 7.5 % 1000 = --nnnmm-
Tk nhk

0.08 + 10 = —-mmenev 2.03 + 10 = —ocmmmem 25+ 10 = mmeemme

PRI (1)) — 0.007 + 100 = -meeemev 8.12 + 100 = ~-nmmmm-

912.4 + 1000= —----m- 35.1 + 1000 = ---eemv 25 = 1000 = ----mmv

—1 =Bl JasT (2

10 x =5 100x =5 1000x =5
~10=0.5 ~100=0.5 +1000=0.5
10 x =8 1oox =8 1000x =8

~10=0.8 ~100=0. 8 +1000=0. 8
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gx10+0.03x100:

9+10%(0.67—0.07) =
1
-x10+05+10=

2.25x10—-0.05x10=

2

—+4+0.05x10=
3
(Fapaaall slac ) ) Gy sacll ddaud 53) AV ol Oa (4
0.5%x3= 0.5x1.4=
1.4x3= 0.13x1.2=
0.5x12= 1.6 x1.4=
0.3x15= 7x19=

0.36 x9 = 0.6 x25=
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1.5+0.3 = 148 + 0.4 =
24+08= 236+0.2=
2.5+0.5= 1035 +0.5=
35+5= 360+ 1.2=
3.6+9= 90+ 1.5=
—:o=8lll JaSH (B
x100=134 x10=10.2
x 100 =16 x10=1.03
x 100 =9 x10=9
x 1000 =2 _ x0.6=600
037x___ =370 1000x =12

5.6 x 100

7100

2= > <)l (7
56 + 100

0.07 x 100
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722+2= 64.56 + 8 =
32.8+8= 151.8+6 =
27.54+9 = 4487 =

~agdul) gy kel Oa (9

2.08x10=
0.5x1000=
4,002x 7 =
10.3x5=
3.01x0.3=
8.04x0.7 =




